M-8-1-3_Cell Phone Scenario and KEY

Cell Phone Scenario

A certain cell phone package charges $39 even if 0 minutes are used during the month. Each additional minute of talk time adds $0.07. 

Complete the x/y chart to represent this function:
	x (minutes)
	y (dollars)

	
	

	
	

	
	

	
	

	
	

	
	


1. Where would the y-intercept be on a graph to represent this function? Explain your reasoning.

2. Is this a linear function? How do you know?

3. Is there a constant rate of change? If so, what is it?

4. Would there be a point at the origin (0, 0)? Explain your reasoning.

5. What would the graph look like?
Cell Phone Scenario - KEY
A certain cell phone package charges $39 even if 0 minutes are used during the month. Each additional minute of talk time adds $0.07. 

Complete the x/y chart to represent this function:

	x (minutes)
	y (dollars)

	0
	39.00

	1
	39.07

	2
	39.14

	3
	39.21

	4
	39.28

	5
	39.35


1. Where would the y-intercept be on a graph to represent this function? Explain your reasoning.
The y-intercept would be at 39, because when the x-value is 0, the y-value is 39. In other words, the line that represents this function crosses the y-axis at (0, 39).
2. Is this a linear function? How do you know?
Yes, this is a linear function. There is a constant rate of change of $0.07 per minute. If I graph the points in the table, they will all line up.
3. Is there a constant rate of change? If so, what is it?
Yes. The constant rate of change is $0.07 per minute.

4. Would there be a point at the origin (0, 0)? Explain your reasoning.
No. When x = 0, y = 39.

5. What would the graph look like?
The graph is a line that crosses the y-axis at 39, and has a rise of 0.07 and a run of 1 from point to point.

